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ocHAFEHE ARE 7Y 100,000& * 128 1,200
= JIEt =&H| 6,740,000& = 14 6,740
o g Al 7,000 * 37 = 404 10,360
202 o4dl 5,610 4,500 1,110
01 = LH o4 1l 5,610 4,500 1,110
OJl2gf=38 0l 85,0003 = 33" =« 23| 5,610
203 YR =] 4,500 4,560 A 60
04 NI FAH 4,500 4,560 260
ORAN2EIRFA 375,000& ~ 123 4,500
204 AR HH| 136,560 134,160 2,400
01 ¥R A 136,560 134,160 2,400
OANE 650,000& * 1Y = 123 7,800
ORANE 600,000& = 1& = 123 7,200
o= 350,000& » 69 * 128 25,200
Ob5=5 95,400
oal . A 100,000& » 489 » 128 57,600
o5 . H.SZ(IIZE)
150,000& » 2198 » 128 37,800
Otz 80,000& = 1&¥ » 123 960
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= o
A & 0l & AF 2 E A A
42 HHBHR M HSEAED
g s
ool MR2HS S4 CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
MEsEALAEY 10,115,827 10,247,661 A 131,834
= 14,864
Xl 650,000
J| 430,337
< 117,330
Al 8,903,296
H=EdsE 8,464,732 8,294,228 170,504
Xl 350,000
J| 193,447
< 113,930
Al 7,807,355
H2HE E4 5,420,758 5,103,734 317,024
H=3 X 771,669 675,261 96,408
301 Lt A2 273,069 203,661 69,408
11IIEtEA S 273,069 203,661 69,408
OXM=3l el 205,185
oMNE=RF 55,000,000& = 1H 55,000
cPREXR(7T3) 2,049,000& = 3% » 128 73,764
ocHREX(92) 1,844,600 * 29 » 123 44,271
c¥dI2xd 2,459,000 * 53 » 23 24,590
o XgExH| 126,000& * 59 » 123 7,560
O=cl=4H| 35,640
o AL At 400,000& = 59 2,000
o FEF I 1,179,996& = 5% * 23] 11,800
CIIEd 30,000& = 6H * 128 2,160
o g A 130,000& * 59 » 123 7,800
oAZ2t2 2R+
8,250 * 20AI2t » 69 » 123 11,880
OAx&sRE= 22,334
o320z 205,185,000& = 4.5% 9,234
ocHLUEEE 205,185,000& = 3.035% 6,228
cRUABEE 6,227,000& = 6.55% 408
clNEEEE 205,185,000& = 2.15% 4,412
oMM EEE 205,185,000& * 1% 2,052
EXANMYE S 1,982,000& = 5% 9,910
307 21201 A 498,600 471,600 27,000
02 IAHFAAHE R 484,300 457,300 27,000
Ooglztad4a 2x3 484,300
oc™MAXNEZ X HiXI
1,750,000& * 13¥ » 12& 273,000
oHd=3 g2 g3l 1,000,000& * 128 12,000
ocH=S3 ¥R ESH (MR2E)
250,000& * 12 3,000
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A= 2 =
Mo YSAE
o9 MRHS S4 (B9 ®R)
SH-EB .S (3H) - MEAY - BES 0 AF o il HZS2
o 40F 22l 15,000,000& * 23] 30,000
ocRadasd Y SWE FHO
60,000,000& * 14 60,000
osAZdEE 29 10,000,000& * 14 10,000
o XEF 43 2  60,000,000& * 14 60,000
oxEs HFEH ALY 4,500,000& * 14 4,500
oo MEs MUXZX BHX
1,750,000& * 198 * 12& 21,000
ocXOC M= &8¢ 4,800,000& * 14 4,800
oHS(ME)E ZIIHH 29|
6,000,000& * 14 6,000
B OIAHMYBPI2IHIEX 14,300 14,300 0
Ooztex 29l X& 14,300,000& * 14 14,300
S 29 2,074,703 1,852,219 222,484
101 2124 d| 18,876 14,066 4,810
SR EE R 18,876 14,066 4,810
Og=azaeol 18,876
PR = 49,5008 * 1Y = 230 11,385
oxFFaY 49,5003 * 19 = 46 2,277
oI 49,500 * 19 x 11¢ 545
o N2 ELE 9,300& * 40AI2t = 11& 4,092
ocNENMNMEE = 18,299,000 * 3.15% 577
201 et A | 49,000 30,000 19,000
03 S AIS H I 49,000 30,000 19,000
OusdgEel 1 249 49,000
oLl 8¢9 30,000,000& * 14 30,000
otZE EEE NHN&E,dEH 2 X
19,000,000& * 14 19,000
202 (44| 10,080 11,000 A 920
01 =2LHOHI 10,080 11,000 A 920
O=s32U3 &I & 0ol
20,000& * 39 x 143 * 12& 10,080
301 dEtEAZ 1,981,747 1,782,153 199,594
VU= - 2s2sSE242 1,981,747 1,782,153 199,594
os38 20 933,000
o= 42,000,000& = 14 42,000
o DX 40,000,000& = 1H 40,000
cEdoly 37,000,000& = 1Y¥ 37,000
oM&EEH oY 28,000,000& *» 1Y 28,000
oSgdd=x 39,000,000& = 49 156,000
oAl &= 35,000,000& * 6Y 210,000
oBzg &= 30,000,000 * 64 180,000




UHHH 2 A HSHAED
HEed=s
H2HE =4 7o)
CEHB .S (B) - NEAY - BAS il 2
otg &= 25,000,000& * 6Y 150,000
oDz &= 15,000,000& * 64H 90,000
oAxs+Y 306,000
oILAZ 700,000& = 309 =* 23] 42,000
osllx¢ 12,000,000& * 223 264,000
o4t 8= 101,547
o=x0AZIEHEE 933,000,000& * 4.5% 41,985
ocdUEE= 933,000,000& * 3.035% 28,317
ocRATE= 28,316,550& * 6.55% 1,855
cllEEEE 933,000,000& =* 2.15% 20,060
opMIEE S 933,000,000& * 1% 9,330
Q& & 2g=2 93,300,000& * 14 93,300
O 29| 273,400
oc=AHZ YU 700,000& * 12& 8,400
oXMXEZ&(SH, otAH) 40,000,000& * 14 40,000
olg E&H 150,000,000& * 14 150,000
o 24 Xl 15,000,000& * 14 15,000
ocEdHEE ¥ II= 60,000,000& * 14 60,000
O==H| 5,000& * 30¥ = 230 34,500
O=RE ol & 30,000,000& * 14 30,000
Ogt=4 29 160,000
SR=Ea] 120,000,000& = 14 120,000
o 2tAlY| 20,000,000& * 14 20,000
ocZER2(HIR s)
1,000,000& = 12& 12,000
o3 JH| 1,500,000& * 23] 3,000
oME=ZFH| 5,000,000& * 14 5,000
OadE 3l 40,000,000& = 13 40,000
Ooger249| 10,000,000& * 14 10,000
405 XH&HF SHI 15,000 15,000 0
01 JHAtY = S F SHI 15,000 15,000 0
OJXMN & 2 &4 2
15,000,000& * 14 15,000
HME 29 572,797 539,483 33,314
301 dEtEAZ 562,797 529,483 33,314
Vo=t - 2SESEA2 562,797 529,483 33,314
osas 20 339,000
o X & Xt 40,000,000& = 14 40,000
ocEgHd = 45,000,000& ~ 1H 45,000
oA N 38,000,000& * 59 190,000
oBz & 32,000,000& * 24 64,000
oxs=Y 38,400
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M3 oEHEI A HSHEAED
g s
g4 d2HE |84
AR 2A - ZH-SH(EH) - HRAY - BES il
optZAF 12,000,000 = 14l 12,000
oS8 ASF 6,000,000& * 14! 6,000
o2 E =¢ 6,000,000& * 14! 6,000
ocEHE 12,000,000 * 14 12,000
SPNEE =, 2,400,000 = 14l 2,400
O4l 28 70,797
o=xbAZIE 339,000,000 = 4.5% 15,255
cAAZHEE 339,000,000 * 3.035% 10,289
cRABEE 10,288,650& * 6.55% 674
cNEEEE 339,000,000& = 2.15% 7,289
cMEE = 339,000,000 * 1% 3,390
cEARES 33,900,000 = 14l 33,900
O8 2dHtl 58,000
o8& KX 250,000& * 12 3,000
o & X E&l 20,000,000 * 14 20,000
olfsl =AHI 15,000,000& = 14l 15,000
o 2 a X 24| 3,000,000& = 14 3,000
cEYEE 2 I= 7
17,000,000& * 14 17,000
O=<l 6,000,000& * 14! 6,000
Og=4a 29l 48,600
o g Al 35,000,000& = 14l 35,000
o 2FA| 6,000,000& * 14! 6,000
o2dHl 2,000,000 * 14 2,000
o232 300,000& * 12 3,600
o gd ZHl 1,000,000& = 14 1,000
oM E3Hl 1,000,000 = 14l 1,000
Oagd 3l 2,000,000& * 12/ 2,000
405 XtatE SHI 10,000
01 At ESFH S 10,000
OJIM & 258 7
10,000,000& = 14 10,000
RESR 29 337,291
301 et a3z 327,291
noista - 2SS 327,291
ORER =0 180,000
o X & Xt 40,000,000& * 1Y 40,000
S = Fal 45,000,000& * 1¥ 45,000
oA = 38,000,000& = 19H 38,000
oBagd = 32,000,000& » 19H 32,000
oCad = 25,000,000& * 19H 25,000
oxns+8 35,400
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NI E-E SN HSEAAY
Hu: HENE
Sl HRHS 84 o E)
MR .24 - B SA(EH) - NRAY - BES il 2
optZAF 12,000,000 = 14l 12,000
oS8 ASF 3,000,000 = 14 3,000
o=2JHHESE 6,000,000& * 14! 6,000
ocEHE 12,000,000 * 14 12,000
SPNEE =, 2,400,000 = 14l 2,400
ozns RFE=s 19,591
o=x0Ha3E 180,000,000 = 4.5% 8,100
cAAZHEE 180,000,000& * 3.035% 5,463
cHAIQAEEE 5,463,000& = 6.55% 358
cIEEHEE 180,000,000& * 2.15% 3,870
SMTEEE 180,000,000 * 1% 1,800
O&XRE=S 18,000,000 = 14l 18,000
O8 29gtl 35,000
o224l 3,000,000 = 14l 3,000
oMAl E&H 7,000,000& * 14 7,000
olfsl =AHI 10,000,000& = 14l 10,000
o 2 a X 24| 2,000,000& = 14 2,000
ocEHES ¥ 1= P¢
10,000,000& * 14 10,000
o ZHl 28Hl 3,000,000& = 14 3,000
O=S=tl 4,0008 * 5% » 280 5,600
Og=a 29 32,700
o g A 20,000,000 = 14l 20,000
o 2HALH| 3,000,000& = 14 3,000
o2 2,000,000 = 14l 2,000
o ZHl 350,000& * 62 2,100
o33R= 300,000& * 12 3,600
S3== Rl 1,000,000& = 14 1,000
cdaE3Hl 1,000,000& = 14 1,000
Oagg 3l 1,000,000& = 14 1,000
405 TtHabH S| 10,000 7,000 3,000
01 AL ESH SHI 10,000 7,000 3,000
OJIM & 258 7
10,000,000 = 14l 10,000
daF 2 509,426 482,935 26,491
ALE A S 499,426 475,935 23,491
o=t - 2sRSENS 499,426 475,935 23,491
Ooga=z 20 263,000
SPNEDN; 40,000,000& * 1Y 40,000
oS58 45,000,000& * 1€ 45,000
oA = 38,000,000& = 3H 114,000
oB=g &= 32,000,000& » 29H 64,000
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sas N
ZHE 84 (e &)
SH-EB .S (3H) - MEAY - BES 0 AF o il HZS2
oxsx¢ 43,200
ot A S 12,000,000& * 14 12,000
oEYILAZ 6,000,000& * 14 6,000
o= JIlEsY 6,000,000& * 14 6,000
oZdHsY 16,800,000& * 14 16,800
oXN&% 2,400,000& * 14 2,400
OAxERES 28,626
o=zdld=Z& 263,000,000& * 4.5% 11,835
ocAUEHEE 263,000,000& * 3.035% 7,983
oXMIQLUEHE = 7,982,050 * 6.55% 523
ocllg8&8s 263,000,000& * 2.15% 5,655
o{tMEE & 263,000,000& * 1% 2,630
(@)= ESEg=g= 26,300,000& * 14 26,300
O82gHbl 60,600
oc=d2dH| 3,600,000& * 14 3,600
oM X =&l 16,000,000& * 14 16,000
olg &MYl 18,000,000& * 14 18,000
o 2 AKX 2| 3,000,000& * 14 3,000
oEdHESs ¥ I PY
20,000,000& * 14 20,000
O==H| 8,000,000& * 14 8,000
Og=429 38,700
SF= NN 25,000,000& * 14 25,000
o 2HAH| 4,000,000& * 14 4,000
o249l 2,000,000& = 14l 2,000
oA ZH| 175,000& = 12& 2,100
ocE23R3 3,600,000& = 14l 3,600
ostd J | 1,000,000& = 14 1,000
oMaE=2EH| 1,000,000& = 14 1,000
O=2sAME U= 2,500,000& = 12& 30,000
O&adE 3lHl 1,000,000& = 13 1,000
405 XHoHF SHI 10,000 7,000 3,000
01 Mt = S FSHI 10,000 7,000 3,000
OJIXMMN & 2&4 2
10,000,000& * 14 10,000
SOHCIAZERE 29 187,235 161, 139 26,096
301 Yete A 177,235 154, 139 23,096
Vo=t - 2sSESEA2 177,235 154,139 23,096
OFMAAMNAER 20 83,000
oE5gdd=x 45,000,000& = 194 45,000
oA & 38,000,000& *» 1Y 38,000
oxs=Y 28,800
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Al H
Mo YSAE
ool HEHS |4 (29l 8)
AR 2N EH O () - MBEAY - BAS 0 AF o il HZS2
o=xmdA=zZ& 77,000,000 * 4.5% 3,465
ocHUBE = 77,000,000& * 3.035% 2,337
ocMIQLUEE = 2,336,950 * 6.55% 154
ocllg8&8s 77,000,000& * 2.15% 1,656
oMIMEE = 77,000,000& * 1% 770
(@)= ESEg=g= 7,700,000& * 14 7,700
OE 234l 17,600
ocZEHEHHI| 300,000& = 12& 3,600
oM X =&l 4,000,000& * 14 4,000
o3 &bl 4,000,000& = 14 4,000
o 2 AKX EH| 1,000,000& = 14 1,000
ocZEHEE L Is F  5,000,000& * 14 5,000
O==| 2,500,000& = 14 2,500
Ogl=4 29 15,700
oz Ayl 7,000,000& * 14 7,000
o 2tAlY| 1,500,000& = 14 1,500
o 2dH| 1,800,000& = 14 1,800
o= Hl 2,000,000& * 14 2,000
o332 2,400,000& * 14 2,400
oMe=Z2EH| 1,000,000& = 14 1,000
O&agE 3l 1,000,000& = 14! 1,000
2= 24T 2Y 24,655 21,066 3,589
101 @121l 14,655 14,066 589
04 JI2ZtH22XNEE 14,655 14,066 589
O2atel ol 14,655
oJlgaz 49,5003 * 1% x 2302 11,385
oFsY 49,5008 * 1Y * 46 2,277
oA Xt 49,5003 * 1¥ x 11 545
ocNENMMEE 22
14,207,000& * 3.15% 448
201 Bt A | 10,000 7,000 3,000
02 3524t 10,000 7,000 3,000
o232 ¢ MAl 8,000
odMIIa,d2H S 8,000,000& * 14 8,000
OAN&ZEH XU (Egz2 Z&)
2,000,000& * 14 2,000
HEAHSE A =X 46,000 47,000 A 1,000
201 L2 H| 44,000 45,000 A 1,000
01 At 22l Yl 34,000 35,000 A 1,000
O AR 22| ] 34,000
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A= ot =
Mo YSAE
ol HEHS S4 CER-ED
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
SZTE Uo 2d Ad 2 29
20,000,0002 * 14l 20,000
oA 23 A= 14,000,000 = 14l 14,000
03 #AI2 I 10,000 10,000 0
Oogzsd&E =i XN&E 10,000,000 * 14 10,000
301 gt d= 2,000 2,000 0
1MIIEBELSS 2,000 2,000 0
Ogzdz adElA 2,000,000 * 14 2,000
HEHNSE 84 2234 5,800 6,000 A 200
202 od4dl 4,800 5,000 A 200
01 = LH 4 1l 4,800 5,000 A 200
OM=sdE =& 20,0008 * 4% * 53| » 12& 4,800
203 YR =& 1,000 1,000 0
03 A E=Z AR =T Y| 1,000 1,000 0
O&ZH=s &4dsl 1,000,000& * 14! 1,000
d=H=C0s 13,000 13,000 0
307 21201 A 13,000 13,000 0
04 DIZHHALALSE E X 13,000 13,000 0
O&=ZxH=CHal &It 13,000,000& = 14l 13,000
dXN=dE X2 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 DIZHEHALAFRI B X 10,000 10,000 0
O&X=zgd X& 10,000,000& = 14l 10,000
sSZUI =2 =510 =S70UH3 120,000 120,000 0
307 glz2+ol & 120,000 120,000 0
04 QIZFHALAIH B = 120,000 120,000 0
OosdUIl &= 5,10 FEF1U=
120,000,000 * 14 120,000
eI A2 WA 510 57UE 70,000 75,000 25,000
307 glz2tol & 70,000 75,000 5,000
04 QIZFHALAIH E = 70,000 75,000 A5,000
OF&I HIWX 5,10 532U
70,000,000& * 14! 70,000
S2UI BEE =0 EFUSE 70,000 75,000 A5,000
307 glz2tol & 70,000 75,000 A5,000
04 DI2HHALALSE E X 70,000 75,000 A5,000
OS2I SE dIFWT FF2U3E
70,000,000& = 14! 70,000
clE OF2E &l &It 5,000 5,000 0
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o= o =
Mo YSAE
ol HEHS S4 CER-ED
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
307 glz2tol & 5,000 5,000 0
04 DI2HHALALSE E X 5,000 5,000 0
OclE Ok & 3l &It 5,000,000& * 14! 5,000
JIgt =2 72 U3 20,000 20,000 0
307 eIzl & 20,000 20,000 0
04 QIZFHALAIH E = 20,000 20,000 0
OJigt &2 #2 U3 20,000,000 = 14l 20,000
H50s ZRELIM=US 290,000 290,000 0
307 21201 A 290,000 290,000 0
04 DIZFSHALAIRI B 290,000 290,000 0
OZEZEUMESUHS 290,000,000& * 14 290,000
ZATAEM=EUE 25,000 25,000 0
307 21201 A 25,000 25,000 0
04 DIZHHALALSE E X 25,000 25,000 0
OZ3& AUN=sUHE &It
25,000,000& * 14 25,000
H24s 22 A& OttE el 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 DIZFSHALAIRI B X 8,000 8,000 0
OHN24sl 23 AN OtetE Hal
8,000,000& * 14! 8,000
JIet & R2 U3l 30,000 30,000 0
307 21201 A 30,000 30,000 0
04 QIZFHALAIH B = 30,000 30,000 0
OJIet E12 U3l 30,000,000& * 14 30,000
H208] =S HUSIHI| el 2,500 2,500 0
307 21201 A 2,500 2,500 0
04 QIZFHALAIR B = 2,500 2,500 0
OHM203 =AU I U2l
2,500,000& 14 2,500
H203 OFE 3 &I thal 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 QIZFHALAIH B = 8,000 8,000 0
OHMI208! OFE3al &Il thal
8,000,000& * 14! 8,000
Hgsl ZEAEI sZUE 5,000 5,000 0
307 glz2+ol & 5,000 5,000 0
04 QIZFHALAIH B = 5,000 5,000 0

_69_




A= IS 2A HsEaEl
Mo YSAE
ol HEHS S4 CER-ED
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
OHM8al AIEI 2E3 5,000,000& = 14! 5,000
Hgsl ZEAEI F4U3 8,000 10,000 A 2,000
307 glz2+ol & 8,000 10,000 A 2,000
04 QIZFHALAIH B = 8,000 10,000 A 2,000
OXxgal ZEAIEI FaUa
8,000,000& 14! 8,000
M73 ZSANEFI BHAZ U3l 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 QIZFHALAIH E = 10,000 10,000 0
OM72 ZEANEI HAZ U3
10,000,000& * 14 10,000
2015 sHAEE 2|1 20,000 20,000 0
307 gl2tol & 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
02015 sHAEEZ O 20,000,000& = 14l 20,000
JIEH Al 72 O3 15,000 15,000 0
307 glz2+ol & 15,000 15,000 0
04 QIZFHALAIH 2 = 15,000 15,000 0
OJIEt A2 T3l 15,000,000& * 14 15,000
Hi16al ZRAZXAMI = -5 44U 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 QIZFHALAIE B = 5,000 5,000 0
OHM16al ZASTXAI =,58 S4UHS
5,000,000& * 14! 5,000
H16s ZJAZ XA =L U3 5,000 5,000 0
307 glz2+ol & 5,000 5,000 0
04 QIZFHALAIH B = 5,000 5,000 0
OHM163l ZASXAI =23
5,000,000& = 14! 5,000
M98 ZJAEZXAMI =22 U3l 2,000 2,000 0
307 glz2tol & 2,000 2,000 0
04 DI2HHALALSE E X 2,000 2,000 0
OM193 ZAZXIAI 28U 3
2,000,000& * 14 2,000
M21g ZJEXAMI S U3 2,000 2,000 0
307 gl2tol & 2,000 2,000 0
04 DIZHHALALSE E X 2,000 2,000 0
OHM213 2T XAI S EUH3E
2,000,000& = 14! 2,000
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AR SN HSZAED
HH: HENES
©el: WENS sS4 (29l 8)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
M20g ZJEZXIAD EHEE O3 2,000 2,000 0
307 gl2tol & 2,000 2,000 0
04 DI2ZHHALALSE E X 2,000 2,000 0
OHM208 LKA EH A =OH3S
2,000,000& * 14 2,000
M21g ZJEZXAI| BEU3 2,000 2,000 0
307 21201 A 2,000 2,000 0
04 DIZHHALALSE E X 2,000 2,000 0
OHM218 ZAST XA A= 3
2,000,000& * 14! 2,000
M27a ZREZXAI 2EZU3 2,000 2,000 0
307 21201 A 2,000 2,000 0
04 QIZFHALAIH B = 2,000 2,000 0
OHM273l ZAS XA SEU3F
2,000,000 = 14l 2,000
L2 TXALEE &2 HM253 OIAEHZE SYUa 1,000 1,000 0
307 glz2+ol & 1,000 1,000 0
04 QIZFHALAIH E = 1,000 1,000 0
OZJS XA & HM243 0IAEHZR S
1,000,000& = 14l 1,000
MBS =4 1,102,554 1,138,954 A 36,400
J| 193,447
= 63,930
Al 845,177
HEHSE X 61,000 61,000 0
307 glz2tol & 61,000 61,000 0
02 It M AHE L 61,000 61,000 0
OdEH=s JRESH| 1,000,000& = 12& 12,000
OMENSs NEA 22+
13,000,000& = 14l 13,000
Odex=3 MHERAH & 22/
6,000,000& * 14! 6,000
OS=gEHUXT HEAUMSE WFAL
30,000,000 = 14l 30,000
daH=s2 249 & 6,470 6,470 0
J| 3,235
Al 3,235
307 glz2+ol & 6,470 6,470 0
J| 3,235
Al 3,235
02 YAFHAANGFEX 6,470 6,470 0
odzr=s 29 N&A 6,470,000& * 14 6,470




A2 OINMHMA R FM o HEEAE]
HH: HENES
ool MEIS S4 CER-ED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
Pl 3,235
Al 3,235
MEH = XNZA HBIX 29 194,304 218,592 N 24,288
J| 97,152
Al 97,152
307 2Iz2t0| A 194,304 218,592 N 24,288
J| 97,152
Al 97,152
02 QI AAIE E X 194,304 218,592 N 24,288
OMEs XNSA BIX 249
194,304,0008 = 14! 194,304
J| 97,152
Al 97,152
HEd dHsgds I3 121,440 97,152 24,288
D] 60,720
Al 60,720
307 S12t0| & 121,440 97,152 24,288
Jl 60,720
Al 60,720
02 DI AAIE E X 121,440 97,152 24,288
ooza dHsgs N X Xl
121,440,0008 » 14! 121,440
J| 60,720
Al 60,720
AN 0lsd XA 46,200 51,240 AN5,040
J| 32,340
o=t 6,930
Al 6,930
301 et A= 46,200 51,240 N5,040
J| 32,340
o= 6,930
Al 6,930
01 Al E& A %52 46,200 51,240 AN5,040
OAZ=2N 0l2d XNIAY
46,200,0008 = 14l 46,200
J| 32,340
== 6,930
Al 6,930
MEHYEDNA 24 24,000 24,000 0
o= 12,000
Al 12,000
307 212t0| & 24,000 24,000 0
o= 12,000
Al 12,000
02 DIZFEAAIE E X 24,000 24,000 0
OMEsnA 2FXH 24,000,000& * 14 24,000
= 12,000

_72_




A= otM £ =
g s
ool MEIS S4 CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
| Al 12,000
dEH=s sd 23 3H| 9,640 10,000 A 360
202 O4dl 8,640 9,000 A 360
01 = LH 4 Hi 8,640 9,000 A 360
OAX=[IAE =&
20,000& = 3" » 123 » 128 8,640
203 ¥ S =&l 1,000 1,000 0
03 AIZ=AH 2 =AH| 1,000 1,000 0
OAZ=0HE 2435t 1,000,000 = 14 1,000
H13s EQE &= ZHL EF0HE 30,000 25,000 5,000
= 15,000
Al 15,000
307 glz2tol & 30,000 25,000 5,000
< 15,000
Al 15,000
04 QIZFHALAIH E = 30,000 25,000 5,000
OHM138l GNE M0 EFUZ
30,000,000& * 14l 30,000
< 15,000
Al 15,000
M3l 2 3cetd Ual 60,000 60,000 0
< 30,000
Al 30,000
307 glz2tol & 60,000 60,000 0
< 30,000
Al 30,000
04 DI2HHALAISE E X 60,000 60,000 0
OHM13al Hagdeacty Hal
60,000,000& * 14 60,000
< 30,000
Al 30,000
H27el Joith &= HILIANE 11,000 11,000 0
307 gl2tol & 11,000 11,000 0
04 DIZHHALALSE E X 11,000 11,000 0
OHM27al Jolith &= HILANE
11,000,000 * 14 11,000
Mi14g 8= IJ1E &30 3 15,000 15,000 0
307 21201 A 15,000 15,000 0
04 DIZFHALALSE E X 15,000 15,000 0
OHM14al E=20t= &32043
15,000,000& * 14 15,000
Mgl Z2EH = HHESE 20,000 20,000 0
307 21201 A 20,000 20,000 0
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A= OFM
HH: HENES
Sl MEHS S4 (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
04 SIZ2ISHAAIH E & 20,000 20,000 0
OHM11e HEZH M2HHEQE ha
20,000,000 * 14! 20,000
2016 x50 8= |48 =72 3 150,000 150,000 0
307 2Iz2to| A 150,000 150,000 0
04 SIZ2HSHAAISH E & 150,000 150,000 0
O30 d=2A4E 322043
150,000,0008 = 14! 150,000
K158 HAEZHICH =203l 3,000 3,000 0
307 212t0| ™ 3,000 3,000 0
04 SIZ2HSHAAISHE E X 3,000 3,000 0
OHM153 ZEHICH =93
3,000,000& = 14! 3,000
K138 HAEZHICH OtetE 3l 45,000 45,000 0
307 2I2t0| ™ 45,000 45,000 0
04 CIZ2tSH AFALS B X 45,000 45,000 0
OM133 HEHICIOICHtE 3l
45,000,000& * 14! 45,000
H63 ZCIMESH S 82 A2IAIRY 3 10,000 10,000 0
307 giztol A 10,000 10,000 0
04 CIZ2tSHALALS B = 10,000 10,000 0
OHN6g 200MeHS3 & B=2A2NAIH O
3| 10,000,000& = 14l 10,000
2 2428 390X S 5,000 5,000 0
307 2iz2tol A 5,000 5,000 0
04 OIZ2tSHAFALS B = 5,000 5,000 0
OLRE L4+28 39X 23
5,000,000& = 14! 5,000
JIEt 8= A2 g 20,000 30,000 A 10,000
307 2Iz2t0| A 20,000 30,000 A 10,000
04 SIZ2ISHAAISH E & 20,000 30,000 A 10,000
OJIEt =2 72 U3 XA
20,000,000& * 14! 20,000
K188l LKA =X AHD| B CHE 2,500 2,500 0]
307 212t0| & 2,500 2,500 0
04 SIZ2ISHAFAISHE E X 2,500 2,500 0
OXMI183l HH=2CH3 2,500,000& = 14! 2,500
H223] MEH X3 1,000 1,000 0
307 2Iz2to| & 1,000 1,000 0
04 SIZ2ISHAAISH E & 1,000 1,000 0

_74_




M ox
40 5 4

OLM BN 2 M HE
Hsds
MEHE |4
= _ — SHE]|
22N B SA(HN) - NRAY - BYS e
OHM225| MM U2 1,000,000& * 14! 1,000
M6zl =03 3,500 ,500
307 glz2+ol & 3,500 ,500
04 QIZFHALAIH B = 3,500 ,500
Ox6sl =10zl 3,500,000& & 3,500
M163] BHERIE 3l 2,000 ,000
307 21201 A 2,000 ,000
04 QIZFHALAIR B = 2,000 ,000
ORMI162 BHESIE O 2,000,000 & 2,000
M6l A 2ctold izl 2,000 ,000
307 2201 A 2,000 ,000
04 DIZHHALALSE E X 2,000 ,000
OHM16s MHA3ectoldial 2,000,000 Al 2,000
M26s AOIE=ZE U3l 2,500 ,500
307 glz2tol & 2,500 ,500
04 QIZFHALAIH E = 2,500 ,500
OHM26al HOIE= 2,500, 000& Al 2,500
H27sl WE2 el 1,000 ,000
307 21201 A 1,000 ,000
04 QIZFHALAIH B = 1,000 ,000
OHmM272 NE& U2l 1,000,000 & 1,000
K143l €013 2,500 ,500
307 21201 A 2,500 ,500
04 QIZFHALAIH B = 2,500 ,500
OXM153 &3l 2,500,000 & 2,500
M58 HILIA a3l 2,500 ,500
307 gl2tol & 2,500 ,500
04 DIZHHALALSE E X 2,500 ,500
OHM153 HILIA O3 2,500,000& Al 2,500
M78 OFRUI(=RR2) 1,500 ,500
307 glz2tol & 1,500 ,500
04 QIZFHALAIH 2 = 1,500 ,500
OHM72l OF1CHz=l 1,500,000 A 1,500
K43 =S 2 1,000 ,000
307 21201 A 1,000 ,000
04 QIZFHALAIH B = 1,000 ,000
OXN4sl ==zl 1,000, 000& & 1,000




AERRCEE! = £
M s
OF MEHS 4 (29l 8)
2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
H6sl ZAMa 1,500 1,500 0
307 gl2tol & 1,500 1,500 0
04 QIZHH AL AR 2 & 1,500 1,500 0
OHe6sl Zatial 1,500,000& * 14! 1,500
M5l NHAEA el 1,500 1,500 0
307 glz2tol & 1,500 1,500 0
04 DIZHEHALAFRI B X 1,500 1,500
OHMb5al [AEA U3l 1,500, 000& Al 1,500
H16s =3 1,500 1,500
307 21201 A 1,500 1,500
04 QIZFHALAIH B = 1,500 1,500
Ox6=sl EUzl 1,500,000& & 1,500
JIet & R»2 U3l 10,000 10,000
307 21201 A 10,000 10,000
04 DIZFBHALAIRI B X 10,000 10,000
OJIet &2 U3l 10,000, 000& 4 10,000
M6zl Al MEH =2 90,000 80,000
307 gl2tol & 90,000 80,000
04 QIZHHALAIRI 2 & 90,000 80,000
OH6sl ZSACIMER=CHS
90,000, 000& & 90,000
Hgsl 2RAZHOMM=S 24,000 24,000
307 21201 A 24,000 24,000
04 DIZFEHALAIRI B = 24,000 24,000
OHgsl ZAZZH0e HM=3l
24,000,000& & 24,000
Al 72 Zoie 3l 4,000 4,000
307 21201 A 4,000 4,000
04 QIZFHALAIH B = 4,000 4,000
OAl 72 ZO0HQ! 3l 4,000,000& & 4,000
JIEF ZOHel tHal &It 22,000 22,000
307 gl2tol & 22,000 22,000
04 DIZHHALALSE E X 22,000 22,000
OJIE ZoHel thal 22,000,000& Al 22,000
2015 23S = MEH=s U 12,000 12,000
307 glz2tol & 12,000 12,000
04 DIZHHALALSE E X 12,000 12,000
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o= o =
HH: HENES
ool MEIS S4 CER-ED
- _ — d =
224 B BN NRAY - BES 0] &k o4 e HlDE2
OZZE 24 MEMSUH
12,000,000 * 14l 12,000
A= M4AXEH U3 7,000 7,000 0
307 gl2tol & 7,000 7,000 0
04 DIZHHALALSE E X 7,000 7,000 0
OdI st TtEA 3 7,000,000& * 14! 7,000
ES=2E 58 d3203s Fot 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
04 QIZFHALAIH E = 5,000 5,000 0
OX= 2% 232 =0 &It
5,000,000& * 14 5,000
2E HOIE=ZS Hal &t 2,000 2,000 0
307 gl2tol & 2,000 2,000 0
04 DIZHHALALSE E X 2,000 2,000 0
O2Z& HOIE= sl &I+ 2,000,0008 * 1A 2,000
2R MEM=SUE Ot 50,000 50,000 0
307 glz2+ol & 50,000 50,000 0
04 QIZFHALAIH 2 = 50,000 50,000 0
OZAEL MetX=s0Hal  50,000,0008 » 1A 50,000
JIEt sl X& 18,000 20,000 A 2,000
307 21201 A 18,000 20,000 A 2,000
04 QIZFHALAIE B = 18,000 20,000 A 2,000
OJIE tHal X& 18,000,000& = 14 18,000
HE JIBAIE &5 1,639,420 1,749,540 A 110,120
Xl 350,000
= 50,000
Al 1,239,420
2= HEAIE FH 20,000 40,000 20,000
401 AIEHI L 2 CHEI 20,000 40,000 220,000
01 A& tl 20,000 40,000 220,000
O2zH(8=2%F) A= 8 2=
20,000,000& = 14 20,000
dUHAEX MSANE 2F 102,540 145,540 A 43,000
201 Let24E] 47,540 50,540 A 3,000
01 At 22l 28,340 31,340 A 3,000
ONMSAELEH EERIMNEZ
10,000,000& = 13l 10,000
OMSAE W 4225 & 3,340,0008 * 14 3,340
OMSAIE EHHl Zdl X
15,000,000& * 14 15,000
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HN=dE
HE JIBAIE &5 (&)
224 ZB SN - HRAY - BES 0l &t o il Bl RE2
02 =224l 19,200 19,200 0
OZT2YH(S7Y Z4Y £ ©IQ3)
160,000& = 100H2 = 123 19,200
401 A& HIZ 201 I 55,000 95,000 A 40,000
01 A& HI 55,000 95,000 A 40,000
OEUHE EX(EMS) T&ZF FH|
20,000,000 * 14 20,000
OXHMESAE E(7HA)
35,000,000 * 14 35,000
SESHSAE £X € 2+ 273,000 200,000 73,000
201 Let249H] 3,000 0 3,000
01 At 22l 3,000 0 3,000
OMSsSAE W A2F 7 3,000,0008 * 14 3,000
401 A& HIZ 201 Y] 270,000 200,000 70,000
01 A& HI 269,000 199,000 70,000
OAl &I 269,000
oSUMSAE M & &4
99,000,000 = 14l 99,000
ocSUHMSAIE RAE At
30,000,000 = 14l 30,000
oAHOIESE FHI(AXELD)
140,000,000& * 14 140,000
03 Al 2 THHI 1,000 1,000 0
S8Hs HSAE X & E== 20l
1,000,000 = 14l 1,000
M= IIEAIE &= 3,880 4,000 A 120
202 44l 2,880 3,000 A 120
01 SLHOYI 2,880 3,000 A 120
ONMSAE g2
20,000& = 2¥ * 63| » 123 2,880
203 YR =&l 1,000 1,000 0
03 A BFAH S =AY 1,000 1,000 0
OHMSIIEtAE &5 1,000,000& = 14! 1,000
AME HE232 =4 200,000 200,000 0
401 AIEHI L 201 200,000 200,000 0
01 A& HI 200,000 200,000 0
OMsSZd TAZeHE HA
200,000,000& = 14l 200,000
Hel2c201e 238 | 10,000 0 10,000
401 AIEHI L 20 10,000 0 10,000
01 A& HI 10,000 0 10,000
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AR SN HSZAED
HH: HENES
@2 Ms JIBAE &5 fEH)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OMesr THei& 32 FHl 10,000,0008 1A 10,000
S3HSAE FHI 180,000 180,000
401 A& HIZ 2018 165,000 165,000
01 A& HI 165,000 165,000
O« Ilo s0tE XNEe =+
50,000,000& = 14l 50,000
OZLEELME == Y 0tF LA
25,000,000 = 14l 25,000
O3SHSAME Ex(Hs2, TEE S)
50,000,000 = 14l 50,000
OZSHUAZ Hte FHI(& M )
40,000,000& * 14! 40,000
405 TtakH S| 15,000 15,000
01 et EZFH S 15,000 15,000
OSHESSH AUBYY AHYE 7
5,000,000& * 14! 5,000
OZEHUAZ = HH 228 7&
5,000,000& * 14! 5,000
OF2d AUHNSE 220 7Y
5,000,000& * 14! 5,000
=233 Fl 300,000 300,000
401 A& HIZ 201 I 300,000 300,000
01 A& HI 300,000 300,000
OYLEADAFH HYEN MY
300,000,000 * 14 300,000
gatx dATNCAE ZHEAMY 450,000 450,000
X 350,000
Al 100,000
308 AHAIEHHSOIA 450,000 450,000
Xl 350,000
Al 100,000
08 WSII20HetE £ 450,000 450,000
Ogdtxs FAICPE ZEAY
450,000,000& = 14 450,000
X 350,000
Al 100,000
MEHSAE A8 L HE> 100,000 100,000
< 50,000
Al 50,000
401 AIEHI L 201 100,000 100,000
< 50,000
Al 50,000
01 A& Hl 100,000 100,000
OdEHNSAE A4 & HES
100,000,000 * 14 100,000
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A= IS 2A HsEaEl
Y HSXE
@2 Ms JIBAE &5 (Sl & &)
- _ — d =
224 B BN NRAY - BES 0] &k o4 e HlDE2
< 50,000
Al 50,000
g MsAE &2 302,000 302,000 0
SEMsAE N 302,000 302,000 0
201 Let24dH] 302,000 302,000 0
01 At 22/l 302,000 302,000 0
Oget==EH| 302,000
ocSEMSAELXNE Let2EH|
500,000& * 43| 2,000
oftadsLd EX LUE & THAAI
300,000,000& * 14l 300,000
84 25 ¢ 4 1,618,470 1,921,513 A 303,043
= 14,864
X 300,000
J| 236,890
< 3,400
Al 1,063,316
a4 =S4 1,618,470 1,921,513 A 303,043
= 14,864
X 300,000
J| 236,890
< 3,400
Al 1,063,316
AW dEE8S 113,520 125,150 A 11,630
201 ¢er24] 14,520 17,150 A 2,630
01 At 22l 4,520 7,150 A 2,630
OArR 2teltl 4,520
cHAHES 235 U= 120,000& * 122 1,440
cHAEAS 3oag
70,0003 = 112 = 43 3,080
03 AH2 I 10,000 10,000 0
OFAE 235 A 2LHI(EREZ WY )
10,000,000& * 14 10,000
301 e A3z 2,000 3,000 A 1,000
09 AL HIE &S 2,000 3,000 A 1,000
OFAE ESEA XA 2,000,000& = 14l 2,000
307 glz2+ol & 97,000 105,000 A 8,000
02 It M AHEE 50,000 0 50,000
OS2t X AFH Bl XI& 50,000,000& * 14 50,000
10 M2 SXNANEHE2IHEX 47,000 0 47,000
OXNgdEAY dEAY XA
37,000,000& * 1A 37,000
O3Ad ZRY 24 N&
10,000,000& * 14 10,000

_80_




A= IS 2A HsEaEl
Hm: HAW 25 2 84
@ HAaE |4 (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
Fadsga 29 311,769 296,903 14,866
101 @14 Hl 135,783 135,857 AT4
03 RIHAZZ2HE =+ 25,823 0 25,823
OFLEXZAH(EIIAHL) 25,823
=lles 1,620,000& » 1H 128 19,440
oAzt ag
8,380 * 40AI2t » 1H + 128 4,023
cNEBMIEE RES
23,463,000& = 3.15% 740
cEASH RES 1,620,000& = 14 1,620
04 D12t Z2XEE+ 109,960 135,857 A 25,897
O2dEx 34,943
cJIE= 45,0003 = 2% = 230 20,700
oFxsad 45,0008 * 2H = 46 4,140
oIt 45,0008 * 28 * 11 990
oAelag
8,380& = 40AI2t = 2% x 123 8,045
cTBMEE 2g3
33,875,000& = 3.15% 1,068
OF=ENelR 14,655
=Jl2g 49,5003 * 1% = 230 11,385
oFFH 49,500 * 1H = 46 2,277
cXtsg 49,5003 * 18 » 11 545
cNEMIEE RES
14,207,000& * 3.15% 448
OFAEXEA 48,404
S == 1,620,000& » 2H » 12& 38,880
o A 2H2l =G
8,380 * 40AI2t » 2FH * 12&8 8,045
cNEMIEE RES
46,925,000& = 3.15% 1,479
OB XIXI & At 11,958
o=z 22,000,000& * 4.5% 990
cHLUEEEZ 22,000,000& = 3.035% 668
cAIQAEBHEE 668,000& = 6.55% 44
cNEMHEEZ 22,000,000& = 3.15% 693
o EAZSH 1,620,000& = 1H 1,620
o A2l =G 8,380& * 40AlI2t ~ 128 4,023
o EZ20AHI 7,000& * 78 * 80 3,920
201 L2l 97,986 102,546 A 4,560
01 At 22l 23,880 24,440 A 560
Oget=&H| 19,140
CANRES 7¢ 100,000& * 128 1,200
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A= IS 2A HsEaEl
Hu: Had 25 Y R4
ol HAW S4 CER-ED
- _ — d =
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N = 0] &F AF S & AN A
NEIRI TR SNBSS
Ha: HUNYHT A2
chelr MBE HzAs (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
HESA W 3,625,107 3,885,557 A 260,450
= 35,302
= 17,486
Al 3,572,319
MK LN A2k 3,595,891 3,857,057 A261,166
= 35,302
o= 17,486
Al 3,543,103
MB35 A2 720,220 633,300 86,920
o= 3,000
Al 717,220
AMCIESBSINSs 29 32,000 32,000 0
o= 3,000
Al 29,000
201 et | 32,000 32,000 0
= 3,000
Al 29,000
01 AR 22l ] 32,000 32,000 0
OANBIAEESINE 29 15,000,000& = 14! 15,000
& 3,000
Al 12,000
OANMOABINSE 2AES (AlIHIZ=0})
17,000,000& = 14 17,000
222 HYEg A=A 4,800 4,800 0
201 Bt 2,800 2,800 0
01 AP 22| H| 2,800 2,800 0
Ogbt4=24| 2,000
o222 HHESNE 2|
2,000,000& = 14l 2,000
ogds4 800
o2 RIAXES FAU SHEM =%
20,0003 = 402Xl 800
303 ZA =2 2,000 2,000 0]
01 a2 2,000 2,000 0
OZ223 HEslsdHFXUE Ala
2,000,000& = 14! 2,000
SHAEAH SHUSIAIE 677,600 588,000 89,600
201 et 120,000 115,000 5,000
02 2224 120,000 115,000 5,000
OA& ZHI KX Y| 120,000
oHMHLEGEH KAl
10,000,000 = 12&€ 120,000
405 XHA&HF S HI 557,600 473,000 84,600
01 XA 2 ZFF S H| 557,600 473,000 84,600
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AR AHHHR SN HESAD
Ha: HUNYHT A2
chelr MBE HzAs cHol )
- _ — d =
A .24 - B BAGEA) - NPAY - BES e HlDE2
OHFHURE FFHTY 1,500,000 » 200CH 300,000
OZglH+7g 900,000& = 20CH 18,000
O2ZEAN 7¢ 239,600
CUFYRE SELAZEN ol A
210,000& * 600K 126,000
oPC 21& RECIE 40,0003 = 54004 21,600
SANRESLAZTE N FY(sH2 2014)
160,000& * 2004 32,000
cdNBAZER 0N 2 (Adobe Acrobat)
550,000& = 104 5,500
cOdNEAZTERN T (AutoCAD A0S
) 4,000,000& = 54 20,000
CHIAMAZERAN P 23,000& = 1,5004 34,500
23 A2 2HBHI 5,820 8,500 A 2,680
202 O4dl 4,320 7,000 A2,680
01 = LH 4 Hi 4,320 7,000 A 2,680
OZEZFA ot 20,000& = 3H = 723 4,320
203 YR =2l 1,500 1,500 0
03 A MFAH S =AY 1,500 1,500 0
OZEEstAI =& 1,500,000 * 14l 1,500
NeEEs =& 186,054 198,423 A 12,369
= 22,860
< 11,486
Al 151,708
dL2E0e RF XA 50,468 43,968 6,500
201 Let24d] 36,368 36,368 0
01 At 22l 3,600 3,600 0
o2g+g 3,600
ocHE30ISFY FESFNE TAMR
30,0003 = 2AI2t = 5 » 23] » 6o 3,600
02 =224l 30,768 30,768 0
03323 2 HA 7,128
odL23 0l RUBHE
99,000 * 6 A = 128 7,128
OAl& & Hl s Xl 23,640
¥ Z30te 2H = 29|
1,720,000& * 128 20,640
cZZ30t2 FE2HH HEUHISX
500,000& * 6IH A 3,000
03 A2 ZHl 2,000 2,000 0
OZEs0IE A=A 2,000,000& = 14 2,000
301 et A= 7,000 7,000 0
09 &AL HI B A S 7,000 7,000 0
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NENCEE T SNBSS
Ha: HUNYHT A2
@ XNFFEs =8 (cho &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OZEs0E FUNE L HAMEH
100,000& * 2% = 6 * 53 6,000
omzgzellt s ¥ M
100,000& = 22 = 53] 1,000
307 gl2tol & 600 600 0
04 DIZHHALALSE E X 600 600 0
OZEZs0ts HAEH &I 600,0008 * 1HA 600
401 Al HIZ 201 8] 2,000 0 2,000
01 A& HI 2,000 0 2,000
OZEsOISsEBHH 2t8 MZ
1,000,000& = 200 A 2,000
405 RHoHE S HI 4,500 0 4,500
01 AL EZFH S 4,500 0 4,500
O&Es0ts Z2Od#2e|lXt PC X &
1,500,000& = 3CH 4,500
230 2d2elk 24 98,916 98,916 0
= 22,860
< 5,486
Al 70,570
307 glz2tol & 98,916 98,916 0
= 22,860
< 5,486
Al 70,570
02 IZtEMAHEE 98,916 98,916 0
OXFEsI0lg TzOgaex &4
13,716,0002 = 60 & 82,296
= 22,860
< 5,486
Al 53,950
OZBS0tS ZE &K S (AHIFIH)
2,770,000& * 6H A& 16,620
280 238 = 30,000 0 30,000
< 6,000
Al 24,000
307 glz2tol & 30,000 0 30,000
< 6,000
Al 24,000
02 It MAMHEE 30,000 0 30,000
OZESNISE XN & sEHEXNZ
5,000,000& * 6H 4 30,000
< 6,000
Al 24,000
F20EANE 24 1,000 1,000 0
201 £B-2%H| 1,000 1,000 0
02 =224l 1,000 1,000 0
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. Ol BH A 2
— - o -
5l

AR .24 - FHH .G (3H) - NSAY - BES Ol At o ﬁlgﬁ HRE2
OA & &Hl 8 Xl 1,000
o(CIXEx38Y &EHIKRAHI
1,000,000& * 14! 1,000
HESAMZA AISEH A 1,350 16,350 A 15,000
201 gEt24Hy| 1,350 1,350 0]
02 Z2=2=24%4| 1,350 1,350 0
OA&EZ&HI KX Y| 1,350
o AIEXEBAI HESII&H RAES
27,000,000& * 5% 1,350
ANEEE 24 A 4,320 5,000 A 680
202 044l 4,320 5,000 A 680
01 2L bl 4,320 5,000 A 680
OXNEAEFFEX 4Hl 20,0008 = 3H » 723] 4,320
HEHB 3 =& 744,600 842,645 A 98,045
= 12,442
= 3,000
Al 729,158
ANZR BEI|BRSHAIAE =S AU DA 38,279 24,840 13,439
= 8,417
Al 29,862
201 et d| 38,279 24,840 13,439
= 8,417
Al 29,862
01 A2t 2| bl 38,279 24,840 13,439
OZ2ED|BI2HAN A “SEHYWH & A28
or2 st 2lAE 38,278,360& * 14! 38,279
= 8,417
Al 29,862
AN HolZ2E2AAE HH 2= 14,573 14,573 0
= 4,025
Al 10,548
201 et 9| 14,573 14,573 0]
= 4,025
Al 10,548
01 AP 2t 2| bl 14,573 14,573 0
OANZF MAHER2HMH =5 & 2lA=
14,573,000& = 14 14,573
= 4,025
Al 10,548
S300IH HEEHEAAE 2= 10,000 25,000 A 15,000
= 3,000
Al 7,000
207 &I & 10,000 25,000 A 15,000
= 3,000
Al 7,000
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A2 HBER SN 3RS
Ha: HUNYHT A2
& dFFES = (cho &)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ol At o %Eﬁ HR=2
02 & AHJH Y| 10,000 25,000 A 15,000
OZ2Z200IHME € NES ALY
10,000,000& = {14! 10,000
& 3,000
Al 7,000
HEEoAG 198,000 0 198,000
201 Bt 14,000 0 14,000
01 AP 22| H| 1,000 0 1,000
Ol dEBES NEe LAY
500,0008 * 23| 1,000
02 E2=2=24%H| 13,000 0 13,000
OA & &Yl 8 XYl 13,000
o B OHUSBZ | Al AE Y DO B 22| AIAE
S 13,000,000& * 14! 13,000
405 XHAHFIEHI 184,000 0 184,000
01 JHAHY 2 Z F S H 184,000 0 184,000
OB 2L AlAE =
80,000,000& * 24! 160,000
OBEQoHUSB & NI B HMAIAE F0IHSDB
S 3t 24,000,000& * 14 24,000
SHE A2 HHI AL 207,453 609,897 N402,444
201 LBt 9| 80,240 88,668 N8,428
02 22244l 80,240 88,668 N8,428
OA & &l 8 XYl 80,240
oM MBCIAAE (H/WN) SRNES
1,600,000 » 12 19,200
cm=He(2-Uet) S/W gXEE
700,000 = 6& 4,200
oLESILEAAE S/WESAES
2,000,000& » o6& 12,000
oSS UM AMXAAE(UMS) KA
500,000& = 12& 6,000
CEAMMMAEX (UPS)S X E ==
500,000& = 12& 6,000
c2HMAMAAAX (UPS) HHEI2I W Al
250,000& * 4004 10,000
odtRetHFI| FRAIESE 400,000& ~ 12& 4,800
oESHAN SAES 170,000 = 12&€ 2,040
oESHHAINM ABH SRS
40,000& = 108 400
CANZRHUBEBANAEY ESAELKXN SAE
&= 1,000,000 = 12& 12,000
OANZRHEHLEAIAE BHA S/W X224
200,000& = 12& 2,400
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M ox
40 5 4

= - — SHE]|
22N I BI(EH) - HRAY - BES e bl D=2t
oADIEHHE CIOIH AIEE
1,200,000& * 14l 1,200
403 UtXSHHSA=0l& 96,213 88,229 7,984
02 SJ|1 2SO0l CH 8HCH & AF 2 HI 96,213 88,229 7,984
OAZRE L FHI S22l 80,000,0008 1A 80,000
OAlZ7 HlE2ALE S8 SN L 2
& 9,213,000& 14! 9,213
OXNLHZISEZTZANAE NMElATAD 29
7,000,000& * 14! 7,000
405 TtabF S| 31,000 93,000 A 62,000
01 AL EZFH S 31,000 93,000 A 62,000
OMeIZERNHERHE 31,000,000 * 14 31,000
IHYAIAE 29 270,535 163,335 107,200
201 Let24d] 131,535 123,335 8,200
01 At 2teltl 6,015 3,815 2,200
Oger=EH| 6,015
oNEgHEB0EE 120,000& * 12& 1,440
o=0ls0 BUES 082
60,000& = 12& 720
cEHeESE RAF=xE8 29,0002 = 9 261
CEIZMAUSE RX44E
165,000& * 64 990
S28H ZEHUSSE Shs=2
28,000& * 8K 224
oBRTHOUSE RX£42
36,000& * 54 180
oEHOIX EE2H SE0I3 ¢S At
2,200,000& * 14 2,200
02 =224l 125,520 119,520 6,000
O332=2 & HA 30,000
oxNHQHY sz 2,500,000& » 12& 30,000
OAIE ZHI S X 95,520
cHEHY s/weEs 300,000& = 123 3,600
COIHUANHIAANAE RANES
3,340,000& = 12&8 40,080
oS HOIXKIAMEIA SXNE=
2,000,000& = 122 24,000
CcHEHBAAY SXEs
1,820,000& » 12& 21,840
©oZHOIXl DBES3 S/W RAE =
500,000& = 123 6,000
207 A RO 39,000 40,000 A 1,000
02 & AR 2] 39,000 40,000 21,000

- 100 -




AR AHHHR SN HESAD
Ha: HUNYHT A2
& dFFES = (cho &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OEHOIXl JsE22d & A8 = o
19,000,000 * 14l 19,000
/=S HOIX JHE 20,000,000 = 14l 20,000
405 TtHabF S| 100,000 0 100,000
01 AL ESFH SH 100,000 0 100,000
OEEESEH uA 100,000
ot ALY 60,000,000 = 14l 60,000
ocSEHAXN €& AZEYNH F
40,000,000& = 14! 40,000
HYFE 2F3H| 5,760 5,000 760
202 o4dl 5,760 5,000 760
01 = LH 4 Hi 5,760 5,000 760
OHFFIBSF=A Hl 20,0003 » 4% » 723 5,760
FESHY 2 & 2= 1,073,257 1,820,729 ANTAT 472
FESNY =329 709,057 716,729 ANT,672
201 L2l 709,057 716,729 NT,672
02 =224l 709,057 716,729 ANT,672
O322= & HA 709,057
o UdBtM 3t 7535 & 12,000,000 = 12& 144,000
o Al &tot 2t ZEII#AH(Y BHA 3, ADSL)
100,000& * 1453| & 14,500
cRNFBEMY SM2
6,896, 100& * 128 82,754
cAtgA 2 SHS T/03HZ (1768 H)
6,000,000& * 12& 72,000
odMZ3lHd DATASI 2 (2731 &)
8,500,000& * 12& 102,000
oME3 M E0SY ML AU SHE FHZ(2
83l &) 13,591,220& * 128 163,095
o ADSL(703] &) 3,000,000& = 12& 36,000
o Al&HGE 2HE SHJIDATA 3l & & (55 &)
500,000& * 53| & 2,500
oS EMSAERZ 3,500,000& * 12& 42,000
oSKEUES AMEZ(1234)
900,000& = 123 10,800
SAJI0IR0IE, 2HRMYS 2 YT
IMNEZ 447,500& « 123 5,370
oA AEZ(210H) 132,000& * 122 1,584
SMEBASARA Sl&= 60,000& ~ 123 720
c4UEE 2IAIAE(EDI) At E
4,500 * 123 54
oHIZY AIEZ 2,000,000& = 12& 24,000
ocSHES FE0EAE 3z
32,000& * 2002 = 12& 7,680
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M ox
40 5 4

TR SN HESY
HUNYHY AU
HESNY 29 2 7S

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
sSMAZEHH S 222,000 964,000 AT742,000
401 Al HI K 201 I 10,000 60,000 A50,000
01 A& Bl 10,000 60,000 A 50,000
OASATHEIXIO TE FLHS AL 0l H
10,000,000& * 14 10,000
405 XtatE SHI 212,000 904,000 A 692,000
01 AL ESFH S 212,000 904,000 A 692,000
OHENMS |pHal ME 200,000
o=2d Wl ¥ Md3I uH
200,000,000& = 14l 200,000
O8%s &= UPS WXl 6,000,000& * 204 A& 12,000
S&EH A2 135,000 135,000 0
201 Let24E] 135,000 135,000 0
02 2524l 135,000 135,000 0
OAl& & Hl s Xl 135,000
cHER/IAFH RIS
40,000,000& = 14l 40,000
ocRUHSMEH RAEx
55,000,000& * 14 55,000
oSEHURML RN
10,000,000& * 14 10,000
cHUSEEHH |RAEx
10,000,000& * 14 10,000
oRF RHHESHH . HF . F2es5T] =
2= 10,000,000& * 14 10,000
cEASHH RAES
10,000,000& * 14 10,000
A2 ESH 223 7,200 5,000 2,200
202 04l 7,200 5,000 2,200
01 = LH A HI 7,200 5,000 2,200
OZFEBSUYE=A Kl
20,0008 = 5% = 728 7,200
gatzel 23 871,760 361,960 509,800
CCTV 2% 22l 868,880 358,960 509,920
201 Let24E] 408,880 338,960 69,920
02 2324l 408,880 338,960 69,920
O332= % HAl 308,880
o(CCTV sl = 110,000& » 19804 * 12 261,360
=(CCTV &J1= 20,0003 = 198K = 123 47,520
OA& &l sl 100,000
oCCTV 89X 24l 60,000,000& * 1Al 60,000
=CCTV = =23 wHdl 40,000,000& * 14 40,000
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M ox
40 5 4

= - — SHE]|
SN B E(BH) - NREMY - BYS e bl D=2t
401 Al& Bl & 28I 460,000 20,000 440,000
01 A& HI 460,000 20,000 440,000
OCCTV A8 S X2 =+ 20,000,000& * 14 20,000
Ogxu&EE CCTV & X
20,000,000& * 1090 A& 200,000
OBFME BARE L ALY 2E
150,000,000 * 14 150,000
OCCTV == WA 90,000,000 * 14 90,000
aztel 234l 2,880 3,000 A 120
202 44l 2,880 3,000 A 120
01 = LHA Yl 2,880 3,000 A120
OHABRALEA 0|
20,0003 = 2% « 723 2,880
HERIZH(FBESAY) 29,216 28,500 716
2l 29,216 28,500 716
23l 29,216 28,500 716
201 L2l 16,346 16,300 46
01 At 22l 16,346 16,300 46
Oget=&H| 12,300
cHF AR ESHI 2,300,000& * 14l 2,300
CHIANRII ABRE 6,500,000& * 14! 6,500
= J|Et==&H| 3,500,000 * 14l 3,500
O=4Altl 4,046
oll=g R gAltl
7,000& * 17F = 343 4,046
202 oddl 8,670 8,000 670
01 S LHOYI 8,670 8,000 670
OJl2g 2380l 85,000& = 178 =« 63l 8,670
203 ¥ S =&l 4,200 4,200 0
04 EMNSSIHRF=EHI 4,200 4,200 0
ORN2EYRFA 350,000& = 12& 4,200
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